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B AREBIZETFRB ELE 45 % FbEb W AREIZRIBAE B 29 % (ESey
B M (BLAR)
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T g FEEH | BE L | B A % B bR E] EEEM | B O | B #Z B
A A E M 200 g 108 64 | N AFRDA FOERLL 4 ke 7, 560 —
LA &= 200 g 108 — | ek — — — —
ZEDR & 200 g 108 64 | N AR — — — —
ZO5NAFD = B 200 g 118 97 | bbb Y 5 ke 5, 940 3, 888
BFh&E = B 8 ke 5,184 1,080 | 5T wxF = B 300 g 453 324
LywAEL = B 150 g 97 — | Elg x BR 350 g 648 —

— — - — — I wHTL = B 400 g 756 648

72N A F 10 ke 1, 944 1,296 | 7— R Amy [ 9 ke 8, 640 8, 100
TEEEIZA LA F # 10 ke 2, 700 1,728 || e 1T 7 13 kg 6, 480 3, 240
< & E B 15 ke 1, 404 648
X p Y B R 10 ke 1,512 1,080
LA A £ % 10 ke 1,728 864
oY e 5 ke 2,376 —
Aer = R 5 ke 1,944 —
<k = A 4 ke 1,728 1, 080
B— = 130 g 108 64
AR E & 10 ke 1, 620 864
mERE £ E 10 ke 1, 836 1,404
LW ™ B 100 g 172 81
F o7t th I ke 19, 440 12, 960
LDl £ B 100 g 64 32
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B AWEEIEBRASHEL 8 % B IEn (M 21t ] [Bw 8t ] [+ 8t ]
B[ (BlAA)
fieE £ H +

i H FEEM | B | & @E %= E Bh H FEEM | B | & E = B
£FESCAHIE — — — — | ®BY 7 F ) 1 ke 3, 888 1, 080
mESAE — — — — | EHN J VT o — 1 ke 1, 296 702
7Y s=al 1 ke 1,231 270 | # 5 = T AU 1 ke 2, 160 1, 080
P H W 1ke 2, 700 237 | A& FER L 1 kg 1, 458 —
AT ] 1ke 756 162 | FVU AV % B 1 ke 4, 320 1,728
ANAA T — — — — | ATV~ e 18 248 162
fEAN T ™ B 1ke 1,814 302

EXA = IR 1ke 1, 458 540

&5 =2 £ E 1 kg 2, 160 1,620

INE Z I 1 ke 2, 386 324

VA, devEgE 1 ke 1,188 594

AT ' IH 1 ke 4, 590 1, 490




